' GROUP 6 STRUCTURE

1. CAB AND ACCESSORIES MOUNTING

— Side door

Latch assv
2209S9CM10
- Tightening torque
ltem| Size kgf - m Iof - ft Iltem Size kgf - m Iof - ft
1 | M6x1.0 1.444+0.3 104422 4 | M10x15 8.27+1.7 59.8+12.3
2 | M8x1.25 25+0.5 18.1+3.6 5 | M12x1.75 | 12.8+3.0 92.6+21.7
3 | M10x15 47409 34+6.5

9-11




2. CAB INTERIOR MOUNTING

Storage

f1 box cover

Console
box(RH)

Seat base Stg(r%(ge
\ Rear mid
%\ . Console tim
- 5 box(LH)
It -
% 6 ? | Safety lever
i) <
RN
= Slide rail o 2
5 1& 0
@&, =y Pedal
Pedal bracket
5
Foot rest Viscous
Foot rest mount
bracket
5
21099CM11
- Tightening torque
Item Size kof - m Iof - ft Item Size kgf - m Iof - ft
1 M6x1.0 0.49+0.1 3.5+0.7 5 M10x 1.5 6.9+1.4 49.9+10.1
2 M6x1.0 1.05+0.2 76+1.4 6 M10x 1.5 8.27+17 59.8+12.3
3 M 8x1.25 3.43+0.7 24.8+5.1 7 M16x 2.0 29.7+45 215+325
4 M8x1.25 4.05+0.8 29.3+5.8

9-12



3. COWLING MOUNTING

Side cover(RH)
2209SHICM12
- Tightening torque
ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05+0.2 76+14

2 | M8x1.25 25+0.5 18.1+3.6
3 | Mi2x1.75| 12.8+3.0 92.6+21.7

9-13



4. COUNTERWEIGHT AND COVERS MOUNTING

Fuel tank under cover

Counterweight

Pump under cover

Hyd tank under cover N J Engine under cover

Radiator
under cover

MCV under cover
Cab under cover
Cab under cover —« §

2209SHICM13

- Tightening torque
ltem | Size kgf - m lof - ft ltem| Size kgf - m Ibf -
M8x1.25 25+0.5 18.1+3.6 3 M12x1.75 12.8+3.0 92.6+21.7
2 M10x1.5 6.9+1.4 49.9+10.1 4 M36 x 3.0 340+10 2460+72.3

9-14



